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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o] 2PPTYRA Bad fo
(a) What do you mean by ‘circular flow of
income’?
“ToATETq Dpd IR WA 2

(b) Mention two problems faced in National
Income Accounting.

IR S IR 701 A4 ST SeEy 41 |
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(c)

(d)

(e)

(g)

(h)

(i)
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(2)

State Say’s law of market.

(=9 @< [f4eo Soay 40 |

What is the meaning of the term
‘aggregate demand’?

ST stz e &2

What do you mean by ‘paradox of thrift’?
Siem R’ e [ 2 ¥

Define multiplier.

QFq LA for4l |

Give two objective factors affecting
consumption function.

Toigeral e O [ER FE 101 B TAme
ey 41 A

Write the meaning of induced
investment.
wenfae fRfcnsm wef &= |

Define marginal propensity to consume.

Afes o9 29l I T4 ?

( Continued )

2. Answer the following questions :

A7/372

(3)

(i) Define reverse operation of the multiplier.

29[ PO sifeq izt o4 |

o PRI Ted o

(a) State Keynes’ psychological law of
consumption.

IR TS Seqcerst RiRce & |

(b) Distinguish between average propensity
to consume and marginal propensity to

consume.

TS (S5 SRS WF AT (Ol 3O TS
Mo e |

(c) Mention two leakages of the multiplier.
B Yol fofm % T 1

(d) Give the difference between aggregate
demand function and aggregate supply
function.

NS oifEa T S ANEAS @19 T TS
(1=( o1 |

2x5=10
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4)

(e) Write briefly about the importance of
investment multiplier in an under-
developed economy.

e SeAifee Rfan g=e TRFRER ¢ s
B o |

- Answer any four of the following questions :
5x4=20
O R e wif¥on e e fora -

(@) Define personal income, disposable
personal income and national income.

e o, IJWAN IETS TH HE GoF
SR SigET ford |

(b) How did Keynes’ criticize the classical
theory of employment?

I fewr wPre Fon IW SR
SSRGS 2

(c) Mention some important factors
determining the consumption pattern of
a society. .
G SEE STl IER AR AT T g
Tz £ 2

A7/372 ( Continued )

R - e

(5) &

(d) With the help of diagrams, write the
differences between induced and
autonomous investments.

foga Ers, Safte S Fog RiFaer 1w
“f12(3 o4 |

(e) Distinguish between marginal efficiency
of capital (MEC) and marginal efficiency
of investment (MEI).

g e vrel S RAcner ae wror
A1 o7 |

(f) Write brief notes on the following :
wore HAIGIRE Y Bl fors
(i) Gross National Product (GNP)
5 AP o
(ii) Net National Product (NNP)
b A TeorE

4. Answer any four of the following questions :
10x4=40

wod R e Bt o Tee foran -

(a) What are the methods usually adopted in
calculating national income? Give the
merits and drawbacks of each method. 10

A/ W o T oraer B R afeds
ofmfocd R4l S SIRPTIR SCEAGAT 4T |
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(7))

(6)

(b) Critically examine Keynes’ theory of () Explain the inpociange and e e

employment 10 of the measurement of national income.

' Discuss the various difficulties faced

IR P OGRS Sl while calculating national income in
EIREMIGIN underdeveloped countries. 6+4=10

_ | AR oW e @ee We oo JER

(c) 1]-Z)lrstcus.s the subge-ctwe and object}ve ‘ e SeAfee BN WE o FCEICS SR

actors determining consumption , Rl RT3 |

function. Write briefly about the ;
relationship between the marginal
propensity to consume and the |

investment multiplier. 6+4=10 *kik

Sofgsrsl Fo el REafs Tome e <@l
ToAMPTYZ, SICATDA 4T | 2AIfEF Tefcerel sl
e R gaeq T TR [Raa e
ferr |

(d) Explain the theory of accelerator. What
are its limitations? ' 6+4=10

@ AT ©GHI TCEDAT KT G2 TIOR
Pz F 2

(e) Discuss the relationship between
national income and economic welfare.
Does an increase in national income
always lead to welfare?

mmwmﬁqﬁﬁs_wcﬁwww .
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